O 1T

—RRFHRERDOHE

HRA B
H21 8,513,307 9,029,713
22 Y 10,133,848
23 88287289266504
24 8,734,459 9192835
25 TTRE 9,063,773
26 91754,68010,184,257
27 Sesa oA27ea
28 5995 08> 9,536,591
29 R 10,308,309
30 9,028,907 3,673,104
R 5205560 0
2 S TN THIG 13,685,009
7,000,000 8,000,000 9,000,000 10,000,000 11,000,000 12,000,000 13,000,000 14,000,2__00
(M)
& 2 ak=p= 4 [[=Liva
B e 2 BRI B W
H11 4 1
0.80 12 4 1
13 4 1
14 4 1
15 4 1
16 7 2
17 7 2
18 5 2
19 6 2
20 4 1
21 4 1
0.591 0.59 0.6 22 4 1
23 4 1
24 4 1
0.50 25 6 1
26 4 1
27 4 1
28 4 1
0.40 29 5 1
H12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 Ry 2 30 5 1
RIT 5 1
(BE. BE3 HFEOFHETER) 2 5 1
AN 4+ AL 3H S = A
B o2 FERFISFIRE xs:t20)
= i & RZEERARERE | RZEERE AESR W &
EEERERRERSET 2,165,649 2,119,401
B S mE EERR A 307,409 301,442
NERERRISET 2,026,753 1,984,653
. _ UNZE YU 523,790 474,146
KEEERT ——
BARMINZ 151,559 299,163
e INZEHIUN 1,856,081 1,364,606
7 =37 -
BRI 569,730 1,059,244

16

B BRI RER

EREE

il




H {I_?\?FD 2 E ﬁX:En /j% ’Ik/ﬂ,

<ﬁ]\®lﬂ§ﬁ> HAr o T
X % RE%E B (%) ABHBE21,455 (0.6%)
i) i 3,417,483 25.0 BEAEHER 103,786 (3.1%)
Z 5 Z 4 % 809,077 5.9 BI7<1E T8 151,489(4.4%)
W H % B 2,394657 75| | BAMRHR219863(6.4%)
E % tH & 3,904,639 285
2] 53 H & 646,762 4.7
% A & 68,021 0.5
- o & 664,656 4.9
gy & 1,128,000 8.2 BTHt#e%E
z » ftb 651,714 4.8 3,417,483
53 A & B 13,685,009 100.0 (FM)
RESE
(EMBIRRH O PIER) wpiem  CHEEREHORT) .
X 2 REEE Bkt (%) X 9 REER Bkt (%)
E3 & % 103,024 0.8 A % =1 2,172,871 17.1
7w % z 3,739,555 29.5 ) % - 1,375,251 10.9
R £ = 3,023,684 23.8 8 Bh = % 4,292,556 33.8
& £ & 1,070,022 8.4 ®ooB W B &' 70,236 0.6
B M Kk E B 700,118 5.5 E7 Bh = 1,277,976 10.0
& T = 662,035 5.2 T OB B R FE X B 1,503,237 11.8
+ S = 938,900 7.4 - I5| =1 43,998 0.3
H B & 384,223 3.0 N & = 867,096 6.8
# B & 1,183,560 9.3 & hva & 82,500 0.6
= |2 =1 43,998 0.3 % & b L B 2 0 0.0
N & = 867,096 6.8 & 1 & 279,619 2.2
B b3 tH & 0 0.0 & H E 750,875 5.9
= H & 5 12,716,215 100.0 = H & B 12,716,215 100.0
rEE HAHBRRAE
B SH3FE—RSFIVTFEORR
(RA DN B : T (ZHE DA B
X 9 FEE Bt (%) X & FEE et (%)
i) G 2,945,619 31.0| | &= = 107,960 1.1
Z 5 Xt & 882,300 9.3 # % = 1,283,365 13.5
A % 7+ 2,150,000 22.6 =2 £ =1 2,853,399 30.1
& 53 H & 759,865 8.0| |@ £ =1 1,158,499 12.2
2 b3 tH & 541,140 5.7 | & ok E B 483,910 5.1
i A & 438,360 4.6 75 T % 487,233 5.1
i o & 300,000 3.2 + S =1 875,621 9.2
i & 840,500 8.9 H Bs -1 379,795 4.0
z ) i 643,216 6.7 |# B = 908,032 9.6
= A & s 9,501,000 100.0 % 72 @& 8 =1 3,000 0.0
N & =1 930,186 9.8
B * H £ 0 0.0
¥ & & 30,000 0.3
3 H & B 9,501,000 100.0
&L EiRER

17




TEE R

T 5 &7
——— HL_F A
w4 | Yot EE &

S P—— K
sono| [Games
wrs e |

5 SR

B U- 12— HEER]
R T [
UL R = F & % &

Termpa T2 & #

=== B R
N R RE IR
|5 N PR TR

e

B E = NMEEXEEEL|
EEER TR

o PR RWE S L
TR E R R

s rme T2 & B #
| HFEFEEEA
w & = | UFE % B R

I

B T %]

= & s TEEEEA
N

T 2 s EEEA

= ESEEIEE |

saemale #+ g =2 #
KB E R - K B B E R
T _Dﬂﬁj:$%

BITHEZEERFRIEN
&2 2
z . = /A\ Az A
5 I —— 3 B % B R
=M B =B ] %
= PO o g EEEE
= = H 2R — i B R
=EN
—|ﬁ$ﬁ%ﬂﬁ7ﬁ£ﬁf: F—1]
—M\ B £E|
eS|
X = g8
[ &= = El= % =
E X E B £ B 2F 5 &l
(2 ¥ % 8 é\|—|$ 5 =l
[BEEEFHIEEZER= 5 |
W R
% s 2 = T 1 =
B& fF =
® 2

BRREBR

—HEHHEEF

@ L FMLEES

FH. B RT. REH. Hislr, RBHE BEHBN. SN,
AT D ERIRER 2 7 3 BT 34 THERK

O FIFRITHMEA

AN

FRH. Eiwly, MEBNO 1H 16 1A THR
OEHE FFEPLEGERKEED
RBR. FBH. BWrR T, HHRE, BEHRN. SEMO1R2H

187 2 1 TR

OEFEMMNKEEHES
REBEAD 1 m58ETH THEAL
ORFERAEMEERLEES
RBENOETE THER
O =T Rt A GRS
RBE L RBERNOLHEIN THK
OEHFEHATN BAREES

EHENOLTEN THK

SM3F4/[1ARE
B RBR



BT DTE
WhPESD L

(RBFN60£ 7 B 1 B#lE)

i OFN

(FBFI60E 7 B 1 B&IE)

igfooy=>
% LA

(FR 124118158 %1E)

-
LS

e @

( =

| Fo®~
< hmil
Wl T3
e 0
R AR

B~ L

8% 4

WS
wWe U
N — KA

o
RLBw

H

& M v
e I A
N R I N
e RO
N —

Efe PR
L W

W =g

B+ & B miKHOE K

HEE
EEL N w
w0 o

e SN
sy Qo

S U VRN
Bk Xy

" &L e v
M)l
e S v
CEUENELS

=
=

i‘_

1
TS

TS

=

BEE

=

2
2
1T/ EWETIR5
T399-4695 REF B EFIEEIRAT K F R Eig10298%

HTHETZ

¥
M3IFL2AR

/E TS

=
A
M

==
ES

7

i




